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Papar 2: Raasoning

e Write the number that is twenty less than one million.

Write the number that is ten thousand less than ten million.
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Papar 2: Raasoning

Write the letter for each fraction in order of size starting
with the smallest fraction.

One has been done for you.
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Papar 2: Raasoning

@ put the correct symbol, < or >, in each box.

3.033 33

3 4
27 2%
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Papar 2: Raasoning
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Papar 2: Raasoning

@ his diagram shows some parcels on a balance scale.
Each small parcel is identical.

Calculate the weight of one small parcel, in grams.

& =

1 xlarge parcel
1.65kg 1 xlarge parcel
2625k
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Papar 2: Raasoning

@ workout the value of p.

Tp-4=24

If t=12, what is 5t + 87
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Papar 2: Raasoning

@ 1 the sale a pair of boots has been reduced by 25%.
They now cost £37.50. What was the original price of
the boots?





